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Solving Sequence

95,1026 —>4—>1—>3—>9—>11 > 8 — 7 —> C3,C6,C11
& Cq C1 C2 Cg Cio C8 C7

A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

I =(—u® =+ btu, —u® =P+ a1, W 20 4 - 20— 1)
B=0b+1, —*+u®+a—u+2, v®—u+2u® —u?+u—1)

* 2 irreducible components of dim¢ = 0, with total 39 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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1.
It = (—u?—ud 4. 4 btu, —uP2—ud+. . a—1, v 4203+ . —2u—1)

(i) Arc colorings

ag =

—2u?? — 203 4+t
ay = —u32—u31—|—-~-+u2+2u
—utt — 2y — 207 — 3
a1 = \ —utt =3 — 4" — WP+ ud 4 u

4ud? + 43t - = 3u—1
2032 + Bt o —u? - 3u

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?? — 11u3? — 4603 — 97u30 — 23812 — 421u?8 — 758u?" —
115426 — 1651425 — 2191u?* — 2586123 — 2978u?2 — 2933u2! — 2856120 — 2304u'? —
1728u'® — 9730w — 263u!'® + 258u'® + 646u'* + T64u’® + 710w + 560utt + 3140 +
160u° + 16u® — 52u” — 64ub — 51u® — 4u* + 16uw® + 18u? + 15u + 3



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1,Cy Wt —6uB o+ du—1

C2 ut +10u 4 20 1
c3,C7 W w4+ 4320+ 32
cs, Cg w2+ 2m—1
Cg, C8 WP+ —58u— 17

10 udt F18uP 4 4 2u+ 1

c11 w2 4 2u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

€1, ¢4 Yt =103 4+ 22 + 1

Co Y34y Ay 1
3,7 Y3 —33y3% + ... — 11776y + 1024
Cs,Co Pre18y® 4 42y +1
Cg, C8 Y3t — 22933 + ... 4+ 682y + 289

€10 Yyt =2y 18y +1

c1 v 38y 2y 41




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol + /—1CS) Cusp shape
u = —0.392064 4 0.9117721
a = —1.220400 + 0.1495461 | —0.33123 — 1.997371 —1.04171 4 3.946591

b= —0.151137 — 0.3780841

u = —0.392064 — 0.9117721
a = —1.220400 — 0.1495461 | —0.33123 + 1.997371 —1.04171 — 3.946591
b= —0.151137 + 0.3780841

u = 0.643857 + 0.7409191
a= 0.444510 + 0.0587471 7.32303 — 1.011501 0.462803 — 0.5384041
b= —-0.919309 — 0.9636101

u = 0.643857 — 0.7409191
= 0.444510 — 0.0587471 7.32303 4 1.011501 0.462803 + 0.5384041
—0.919309 + 0.9636101

0.631061 + 0.8141431
—1.09866 — 1.389921 7.11131 4 5.933711 —0.19300 — 5.697561
—0.986984 4+ 0.9344481

0.631061 — 0.8141431
= —1.09866 + 1.389921 7.11131 — 5.933711 —0.19300 + 5.69756.1
= —0.986984 — 0.9344481

= —0.820098 + 0.2173561
= —1.021230 — 0.7838831 3.98565 + 7.549441 —1.73478 — 4.556021

—0.820098 — 0.2173561
—1.021230 4 0.7838831 3.98565 — 7.549441 —1.73478 4 4.556021
—1.088070 — 0.8336281

—0.775445 + 0.2768431
= —0.000113 + 0.1472231 5.05465 - 0.881841 | —0.0341976 4 0.11677601
= —0.749373 — 0.9807501

= —0.775445 — 0.2768431
= —0.000113 — 0.1472231 5.05465 — 0.881847 | —0.0341976 — 0.11677601
= —0.749373 4 0.9807501

b
U
a
b
U
a
b
U
a
b= —1.088070 + 0.8336281
U
a
b
U
a
b
U
a
b




Solutions to I}

V=1(vol + y/—=1C5)

Cusp shape

u = —0.255241 + 1.1547601
a = —1.63194 — 0.613641
b= —0.719802 — 0.8387121

0.59034 — 2.201931

—5.39762 + 2.892551

u = —0.255241 — 1.1547601
a=—1.63194 + 0.613641
b= —0.719802 + 0.8387121

0.59034 + 2.201931

—5.39762 — 2.892551

u= 0.401589 + 1.1216201
0.740490 + 0.2294831
b= 0.867707 4 0.5234861

—4.35229 4 1.604611

—8.26502 — 1.096221

u= 0.401589 — 1.1216201
0.740490 — 0.2294831

—4.35229 — 1.604611

—8.26502 + 1.096221

b= 0.867707 — 0.5234861

u= 0.803313

a = —1.12207 —3.18504 0.914630
b= —0.598522

u = —0.421626 + 0.6678961
a = —0.457995 — 0.7767021
b= 0.257061 4 0.4359531

0.37642 — 1.539201

0.52977 + 5.140511

u = —0.421626 — 0.6678961
a = —0.457995 + 0.7767021
b= 0.257061 — 0.4359531

0.37642 4 1.539201

0.52977 — 5.140511

u = —0.449017 + 1.1369701
a= 2.83048 —1.351621
b= 1.307530 4 0.065436.1

—5.63834 — 3.947021

—6.39479 + 3.361131

u = —0.449017 — 1.1369701
2.83048 + 1.351621
b= 1.307530 — 0.0654361

—5.63834 4 3.947021

—6.39479 — 3.361131

u= 0.490186 + 1.1362701
1.31533 4 1.012081

b= 10.706452 — 0.6619021

—3.70744 + 6.196071

—6.22304 — 6.672451




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.490186 — 1.1362701
1.31533 — 1.012081
0.706452 + 0.6619021

—3.70744 — 6.196071

—6.22304 + 6.672451

—0.316626 + 1.2113001
= —1.82873 4 0.861141
—1.058350 4- 0.7737201

—0.44863 + 3.888681

—6.63703 — 2.261541

—0.316626 — 1.2113007
= —1.82873 — 0.861141
—1.058350 — 0.7737201

—0.44863 — 3.888681

—6.63703 + 2.261541

—0.548880 + 1.1453501
0.412467 + 1.2441401
—0.692953 4 1.0241201

2.49823 — 5.837351

—3.10039 + 3.724651

—0.548880 — 1.1453501
0.412467 — 1.2441401
—0.692953 — 1.0241201

2.49823 + 5.837351

—3.10039 — 3.724651

0.456179 + 1.2148701
—1.73132 — 0.473681
—0.649218 4- 0.0499591

6.76337 4+ 4.505181

—1.87945 — 4.078591

0.456179 — 1.2148701
—1.73132 + 0.473681
—0.649218 — 0.0499591

—6.76337 — 4.505181

—1.87945 + 4.078591

—0.544284 4 1.1797701
—2.56097 + 1.104131
—1.127080 — 0.8249831

1.13195 — 12.587701

—4.92167 + 7.876991

—0.544284 — 1.1797701
—2.56097 — 1.104131
—1.127080 + 0.8249831

1.13195 + 12.587701

—4.92167 — 7.876991

0.157297 + 0.6761031
1.45465 + 1.847511
1.034700 — 0.1737881

> Q& €| & €|l & €| Q& €| Q2 &) Q@ &)l Q@ €|l & €|l & €| & &
I

—2.09473 + 0.784711

—6.87662 + 2.654081




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.157297 — 0.6761031
1.45465 — 1.847511
1.034700 + 0.1737881

—2.09473 — 0.784711

—6.87662 — 2.654081

0.637571 + 0.1710451

a = —0.049058 — 1.0730201

b:

0.658221 + 0.5292581

—0.99883 — 1.830781

—2.95289 + 3.766181

0.637571 — 0.1710451

a = —0.049058 + 1.0730201

—0.99883 + 1.830781

—2.95289 — 3.766181

b= 0.658221 — 0.5292581
u = —0.592232

= 1.92705 —2.64346 —1.59530
b= 1.21971




IL Iy =(bd+1, —v*+uv’*+a—-u+2, v*—u*+2ud —uw?+u—1)

(i) Arc colorings

(ii) Obstruction class =1

(iii) Cusp Shapes = —2u* + Tu? — 8u? + 6u — 12



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
“ (u—1)°
C2,C4 (u+1)°
cs3,C7 u®
& ub —ut 20 —u Fu—1
6 w4 ut —2ud —u fu—1
cg,C11 Wt =2+l tu+1
Co u’ 4+ ut + 20 +ut u+ 1
C10 wW+Sut+4ut P —u—1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
5
C1,C2,C4 (y_l)
C3,Cr7 y5
C5,Co 3yt A+ -y -1
C6,C8, C11 y? =5yt + 8y — 3y —y—1
c10 v’ -yt +8y° =3y  + 3y — 1

11



(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V—1(vol ++/=1CS) Cusp shape
u = —0.339110 + 0.822375]
a = —1.12878 4+ 1.107661 —1.97403 — 1.530581 | —5.00899 + 6.236731
b = —1.00000
u = —0.339110 — 0.8223751
a = —1.12878 — 1.107661 —1.97403 4 1.530581 | —5.00899 — 6.236731
b = —1.00000
= 0.766826
a = —1.37029 —4.04602 —9.63840
b = —1.00000
u = 0.455697 + 1.2001507
= —2.18608 — 0.874651 —7.51750 4 4.400837 | —13.17182 — 3.023101
b = —1.00000
= 0.455697 — 1.2001507
a = —2.18608 + 0.874651 —7.51750 — 4.400837 | —13.17182 4 3.023101
b = —1.00000

12



ITI. u-Polynomials

Crossings u-Polynomials at each crossing
e (= 1°) % — 6™ 4 -+ du— 1)
€2 (w4 1)) (u®* +10u® + -+ 2u? + 1)
c3, Cr ud (w3t — w4 32u + 32)
Cq (w4 1)%) (@ = 66 + - + du— 1)
& (w® —ut +2u = 4 u— 1) =203+ F2u—1)
6 (u® +ut — 203 —u? 4 u— 1) + 203 + - — 58u — 17)
Cg (u® —u* —2u® +u? +u+ 1) (U + 20 4 - — 58u — 17)
9 (u® +ut + 20+ +u+1) (W =203+ F2u—1)
€10 (u® + 3u* + 4u® +u? —u— D)W +18u3 + - 4 2u+ 1)
c11 (u® —ut —2u® +u? Fu+ 1) (W —2u3 o F2u 1)

13



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1,¢4 ((y — 1)®)(y** — 10y + -+ 2y% + 1)
2 (g =)™ +34y™ + - + 4y + 1)

¢s, Cr Yo (y3h — 33y - — 11776y + 1024)

¢5,Co W +3y" + 4+ —y - D + 18P+ 42y + 1)

C6, C8 (y° — 5yt + 8> — 3y —y — 1)(y>* — 2293 + - - - + 682y + 289)
c10 (v° =" +8y° =3y* +3y — 1)(y*" — 2y +--- — 18y + 1)
ci (v° = 5y" + 8y = 3y* —y — D(K* +38y™ + -+ 2y + 1)
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